Th22 AABC 01]*1 BCY £H& M A
Sk _ =2 A(a,b)
Uﬂ, AB°+AC’ = 2(AM° +BM)

Ty,
B(-c,00 M| C(c,0) =

AB° +AC = (a+ )2+ b2+ (a-c)? + b2 =(7h) o] 2,
AM =a? + b2, BM’ = ¢2
wheba AN + BM =(1})

< AB +AC” =(th(AM + BM)

o] (7h), (W), (Fh) ol &2 Ae A= 2 od?

@ a®>+b%+c%a® +b%+ 21
@ 2(a®+b* +?),2(a®> + b*> + 2),1
® 2(a®+b* +?),a®> + b> + 2,2
@ 2(a® + b* + ?),2(a® + b* + ¢?),2

),

® 3(a®+ b2+, a®> +b*+23



2. BC9 F3ol M<l aABC7} 3lth. AB=5,AC=3, AM=2¢ 1,
BC 9] Zol& Fstofzt.

YR
=%



T2 A = 90°% AR
AB° +AC’ =BC & Z9¥g Ao
2y} Zro] ¥ BC o] A& Moz}t

A
1ot

e

-

ol

A5 70" = (b ] (B + [0 )

o] . BM = %@ o],

[ J=[E) [BColm=

AB® +AC" =[0b | ([&) BCY)
-BC

BC o] A
oe 1




Al AL, 2), B(m, 2), C(4, n)E HAF R

RIS 2 (§ 3) olt}. olml, m + n ol 2t

D 2 ® -2 3 0 @



5. sABCS B3 AS] 2} (5,4), W ABE| FH| S} (-1,3),
SAFA] FET (1, 2)Q W, BRH B,C 0| HEE 57

@® B(-5,2), C(5,1) @ B(-6,2), C(4,0)
® B(-7,2), C(5,0) @ B(-7,-1), C(4,0)



6. Al A A(a.4), B(Lb), C(3.1)& BAH o2 5= AABC O] FAFA
o] HE7t G(2,1) Y W, ab 2] 327

mlo

D -4 @ -3 3 -2 @ 3 ® 4



@ 1 B 3

® 0



p—

xZHo] 30]al yHHo] 29

8.

~ln

= |7

~la

lallar)

® y=3x+2

@ y=2x+1






10. x+y+z=3, xy+yz4+zx=-1 L o x2 4y 472 o] ZFS FL5HAH?

@D 11 2 12 ® 13 @ 14 ® 15



11.

x+y=3,x20,y> 04 o, 2x* +)? O] A2 M, &= mol=t
SFH M — m& ool

B
=¥



ol 4x + 22 ©] gL

S

4= x,yoll o

Al
=
f

2471

‘-‘1—]_

45

, M+ m9] 327

St
=

@ 4 B 8

® 0



ol

ol

N
4K
T

2 1 3 2 @ 3 B 4

@D 0



2x? +3xy—2y> =0 . ,
14. ﬁ%%@a{Q . o o8 x =y = 2 T W,
Xty =

o+ B0 H5RE Taolat,

1D -8 ® -6 3) -4 @ -2 3B 0






® 15 3 10 @ =10 B -15

D0



17.

Dx-124+ 0+’ =13 A3 +4y+a=0° AZHFE F

oA ghg o, a o] 3t F =2 To= F5HH?

D7 ® 9 ® 11 @ 13 ® 15



18.

24y =r4r>0, (x-1)

=

ool of

29

D 3 ® 4

> 4 (y+2v2)" = 19 Hotel ¥ A2

y
Aol g s x7h Hagh 17 ol ), o] Mgk A4l



19. A2 4+y? =802 y=x+k7} AR 2 F Ho A Ty E
A% ke grel WSS Pt

D -2<k<?2 @ 0<k<4 ® -4<k<0

@ —2<k<0 B -4<k<4



20.

OJAPYA A 2 -3x+1=09 F <=« ,83}‘*@1 ﬁji
T 2O & Sf= o|APTA A x? 4+ ax + b = 0°]th OT Uﬂ, a+b2
27

® 5



21.

B 1 1
VYA @ - 3r+1=09 £ T ap B 0?4 B4
& F ZOR St oA A S Bo|M A =w?

D x2-10x+3=0 @ x2-10x+5=0

® x2-3x+3=0 @ x*-3x+5=0

B 2 -5x+7=0



22,

YA 22 35+ 1= 09 F 2L o, f2F T 1)

2% 2o o)1 o)A A% 19 OAEAS 751
D x2-6x+4=0 @ x2-3x4+4=0

® x2+6x+5=0 @ x24+4x+5=0

B 2 -4x+5=0



Ag= xof tiste], BS54 k{x? - (k—2)x—3(k—2)} > 07} A H =7
&5 k3re] M91E otH?

ne
\_
=L
oh=

D 0<k<?2 @ 1<k<?2 ® 1<k<4

@ -1<k<3 B 2<k<-1



24. REAS xof sl x2-2ax+a+6 > 0 0]7] $I8+ H4 a o] =2

D 470 ® 570 3 670 @ 770 ® 874



RE A% x, yof tiote] x2 4 4xy+4y? +10x+ay+5b > 0°] AH
At 44 a, b O] 27127
® a=5b>5 @ a=10,b>5 ® a=10,b<5
® a=20,b<5

@ a=20,b>5

[e)

1



1:]-

m°1‘ dlo

A 74 < x < 60] HES A5 a ] k9] W9
a

o
Fofl, o O] A X&) @& o ?
2 -6x+8>0

——

x?—(a+6)x+6a<0

D 4 ® 5 B 6 @ 7 B 8

|



27.

=2 - 1

SA BHESHE x5 <x< 6L W, a+ b2 FHL?

® 1 A -11 @ 11 B 5



28. xof oigt OWE‘EN x2—10x-24 >0,
(x+1)(x—a*+a) <02 FAl TEoh= x 9] Fho] EAfshA] =
A a2l 3ol ‘?-ﬂ-ﬂ%‘?
D -3<a<12 @ -3<a<8 ® -3<a<4

@ —2<a<1? B -2<a<3



29. FHAG,5),B(1, 1)

o] 3= o, %144 A P o tiste] AP+BP
7t H A7  EE A P o] H:meF AP +

P o] #4327
@P(%,o),wﬁ @P(%,O),\/E
® P(1, 0), 2V10 @P(g,o),«/ﬁ

® P(%, 0),2«@



30.

x & 9o F A2, 0),B(4,0) I Ay =x ¢
o] tiste] AP + BP 9 #4327

D 2 @ 242 3 243 @ 4



31. FHA(1,3).B(4,1) T x % 919 A P of tfate] AP + BP 9]
#e stz

YR
c



